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1- All businesses have ....and engage in similar activities. (www.iranarze.ir)

1) Goals 2) Garage 3) Barber 4) bakery

\ (o wly
2- Paying taxes to the government is a(n) ...... activity. (www.iranarze.ir)
1) Norming 2) Financing 3) Operating 4) investing

Y o Gl
3- Business ........ are economic events that affect the financial position of a business entity.
1) Brand 2) transfer 3) Companies 4) transactions

¥ oo &l
4- A ... is an electronic tool for the rapid collection, organization, and communication of large
amounts of information. (www.iranarze.ir)
1) firm 2) money 3) Vehicle 4) computer

¥ ioo &l

5- Management accounting focuses on the preparation of information primarily for internal use

by .......... (www.iranarze.ir)
1) stockholder 2) Account 3) management 4) auditor
Y oo gl

6- Every company has two types of equities: creditors' equities and .... (www.iranarze.ir)

1) Debts 2) Losses 3) Liabilities 4) owner's equity

¥ o &l
7- Taxes owed to the governmentiis ........... (www.iranarze.ir)
1) Asset 2) Capital 3) Liability 4) withdrawals

Y izeo gl

8- Which of the following choices is correct? (www.iranarze.ir)

1) Owner's equity = assets-liabilities 2) Assets = liabilities - owner's equity
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3) Liabilities = assets + owner's equity 4) Assets = liabilities - losses

\ (o wly
9- Acceptable accounting practice consists ...... the conventions and rules that make up GAAP
at a particular time.(www.iranarze.ir)
1) on 2) Of 3) up 4) for

Vg gl

10- The independent ......is an important factor in the worldwide growth of financial markets.

1) bank 2) Audit 3) Accountant 4) government

Vg gl
11- What is the abbreviation of the word "debit'? (www.iranarze.ir)
1) Dr. 2) Cr. 3) Mr. 4) GAAP

) izmo nly
12- Which of the following account decreases owner's equity? (www.iranarze.ir)
1) assets 2) Profits 3) Expenses 4) revenues

Y oo gl
13- Increasesiin ....... are recorded by .......... (www.iranarze.ir)
1) assets - debits 2) capitals - debits
3) assets - credits 4) liabilities - debits

)iz Gl

14- After transactions have been entered in the general journal, they are posted to the.......

1) trial balance 2) general ledger
3) balance sheet 4) income statement
Y (zamo Gwly
15-An invoice, check, receipt that supports a transaction is called a ........ (www.iranarze.ir)
1) journal 2) Deferral
3) normal balance 4) source document
Y o Fwly

16- A trial balance prepared after all adjusting entries have been recorded and posted to the

accounts is called........... (Www.iranarze.ir)
1) accrual 2) expenses
3) Depreciation 4) adjusted trial balance

¥ o Gl
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17- The costs of goods and services used up in the process of producing revenues is called....

1) assets 2) profits 3) Expenses 4) capitals

¥ igme by
18- Plant assets are recorded as ......when they are acquired.( www.iranarze.ir)
1) loss 2) Asset 3) revenue 4) expense

Vg gl
19- The accountant records assets at .... (www.iranarze.ir)
1) cost 2) Loss 3) Profit 4) revenue

) igame by

20- Who is responsible for the preparation of financial statements in accordance with GAAP?

1) auditors 2) Government 3) Management 4) accountants

Y oo gl
21- Lack of working capital can lead to a company’s ....... (www.iranarze.ir)
1) failure 2) Success 3) Efficiency 4) prosperity

) igme gl
22- Which of the following choices is classified as intangible assets? (www.iranarze.ir)
1) land 2) goodwill
3) notes payable 4) accounts receivable

¥ igo gl

23- Which of the following choices is classified in long term liabilities? (www.iranarze.ir)
1) building 2) store supplies
3) notes receivable 4) mortgages payable
¥ igo by

24- One important use of classified financial statements is to evaluate a company'’s liquidity and

.......... (www.iranarze.ir)
1) costing 2) Corporation
3) Profitability 4) annual report

Y oo gl
25-Some of these measurements are relevant to accounting some are not. ""Measurements™

means ....... (www.iranarze.ir)

1) sl 2) el 3) YIS (509290 4) o 1.5 o5l
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26- The preparation of adjusting entries is summarized in the following table. ""Entries' means

.......... (www.iranarze.ir)
Db e 2) 0 3) oMol 4) odbass
\ izumo wly

27- Discuss the importance of professional ethics in accounting profession. **Professional®

means .......... (www.iranarze.ir)
1) S 2) las > 3) Sepie 4) sepials

Y (o Gwly

28- The receivable turnover is computed by dividing net sales by average netaccounts receivable.

"Accounts receivable™ means ....(www.iranarze.ir)
1) cilys i 2) Joog bz s sl
3) 8L, o ol 4) c3lop i o olu

¥V igme gl
29- Prepare the trial balance to confirm the balance of the accounts. "' Trial balance' means ....
1) sl 2) gz 3) o9 anil> 4) alesl 515

Y (g0 Gl

30-The ratio is computed by dividing total liabilities by owner's equity. *Liabilities’ means...

1) b oL 2) b o 3) b aye 4) (Sl Goi>

¥ igo gl
31- The data are stored until needed and then processed to become useful .........
1) finance 2) Activity 3) Transaction 4) information

¥ iguo by
32- Each business must engage in ......... activities to obtain adequate funds, or capital, to begin
and to continue operating. (www.iranarze.ir)
1) financing 2) Liquidity 3) Lending 4) losses

) igae gl

33- Decision makers are divided into two groups based on the users of accounting information:

insiders and....... (Www.iranarze.ir)

1) adults 2) Advisors 3) Auditors 4) outsiders

¥ o Gl
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34-Which of the following choices falls in the category of insiders of decision makers?

1) Inventors 2) Creditors
3) Customers 4) Management
¥ igeme gl
35- The ....... who lends money or delivers goods before being paid are interested mainly in

whether a company will have the cash to pay interest charges and repay debt at the appropriate
time.

1) auditors 2) Creditors 3) Employees 4) accountants
Vg gl

36- In which of the following choices at least one partner must have unlimited liability?
1) governance 2) corporation

3) Partnership 4) sole proprietorship

Y o by
37- The most important body for developing and issuing rules on accounting practice is called
.......... (www.iranarze.ir)
1) FASB 2) MIS 3) AlS 4) CPA

\ (zumo Gowly
38- Which of the following choices is in non-monetary, physical things? (www.iranarze.ir)
1) cash 2) patent 3) Building 4) Copyright

¥ igme gl
39- The ....... equals the residual interest in the assets of an entity that remains after deducting

the entity’'s liabilities. (www.iranarze.ir)

1) owner's equity 2) Expense 3) Revenue 4) net loss

) iz Gy
40- The balance sheet is dated as of a certain date. Certain date' means ....... ( WWw.iranarze.ir)
1) no 2) Any 3) Not 4) specific

¥ o &l

41- Investors are willing to rely ... an auditor's opinion when deciding to invest in a company
that has been audited. (www.iranarze.ir)
1) in 2) on 3) by 4) off

¥ igo Gl
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